x4 1M Y 7 bR—ILHR BEFEXE FH304£5H6H
TRy 7 MR-
(o) om ate $iB%  BEAESANY S KA

(% 1 #8&)

F — L £ 1 2 3 4 5 6 Ji 8 9 10 A
hRRY ST 0 | 1 0 5
igf,: A Wy 3 0 0 4X 7
BH RFE = —= | —_8 &K =8 Rk

BlE e BHIR  TEF59% ®rT 98F09%y AT E R 70 %
(£ 2 =&

F — L 4 1 2 3 4 5 6 7 8 9 10 A
BERYS5D 1 2 2 5
RBEHSD 1 ) 0 2X 8
BH KE 3 —= % H 8 TR =2 Ft

Bl EE R 9BF21% BT 10315 T B 70 %
(88 3 #H&)

F — L 4 1 2 3 4 5 6 Ji 8 9 10 B
HE 0 2 0 5 1 8
B35 T 110 8 ]2 6
BH RFE JAK —=2 IR 8 #t =8 = H

BlE figiE Bash  10BF45% #®T _11K56% Fr B 11 %
(8 4 H5)

F — L % 1 2 3 4 5 6 7 8 9 10 B
EEVI L 1 0 0 1
REHST 14 5 19
BH KE figiE —= &l = 10 =2 Z=H

Bl EE g 1285054 T  13F05% T B 60 %
(8 5 #H&)

F — L £ 1 2 3 4 5 6 Ji 8 9 10 B
fEEVI L 1 0 0 2
HE 5 6 1 X 12
EH Bk Pyl —&8 K —8 Bk == 1TE:S

& Y S
& _ EHY BAsE _ 1385205 BT 1485205 FrERME 60 5

|



*xe4 JIETHY 7 bR—ILIhs HEEKRE TH30&E5H6H
SIEwY 7 FR—Lie
1 28) 38 i Hig%  HFHAESENS S FBE
= 1 ®a)

F — L £ 1 2 3 4 5 6 7 8 9 10 H
AILH-1 1 0 1 2 4
=y HKE  EE -2 == -2 XK == #

ZlE B BsE  7B558%) BT 9B509%) FERR 71
% 2 ®&

F — L £ 1 2 3 4 5 6 7 8 9 10 5
K5I 1o o] 1 9
FEES ATy 6 | 1 3x 12
Ey|  RE B —2 B -8 =% =2 X%

B = BESS  OB%19%) ®“7 1085215 FERRY 62
(% 3 2o

F — L £ 1 2 3 4 5 6 7 8 9 10 5
£FHH ST 2 ol 1lofolo 3
[ 1ol ol o 3x 4
=y HE  ZE — = -2 EE =2 A

BlE %= B8 10B534%) @7 1185544 FERSRY 80
(B 4 HA)

F — L & T T 2131 4157161 71879 10]:3
REH 57 0| 0] 0 0
IHY5 D 12| 2| 1 15
=y KE B —2  x=E -8  E@ == B

SN BISE  128503% ®T 1285585 FERSREY 55
(8 5 =HB)

F — L £ 1 2 3 4 5 6 7 8 9 10 B
I o | 11 ]2]o0 4
IHYS5T 0| 4]0 4
=y KE UM -2 ER -2  z= =2 %

ZlE  EM B8 1385134 ®T 1485305 FERR 77



